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MANAGEMENT (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.

T~ — wHT] 35 1 [PTO.



1. (a)

(b)

(c)

WUus—A / SECTION—A ;

U Tt T S0 T T St Weliia S @ B S fasme ifimm wem 3 e
7 gg Fuifd 5w =ea & 6 S ot et ot sy o 1 stvan wsfl oy wggl =
e ¥ | wEe oen | Fmia W go =fwd w1 ages T (Fm) o R, R aakE
1 qaiaerehd o &, wd Frafefaa afom s sar 81 w-w=a (x2) e w0 segh w5
g fred femfere (6 wdam 6 =ife T 5% Wefed TR W FE-w¥ (x2) # wifas aH
12:592 @) :

Y e
208 ¥4 20-39 40-59 60 IR 398 FR
ERICERCRET 320 80 110 200
ot A199g far 50 15 70 60
Yy 30 5 20 40

A movie producer is bringing out a new movie. In order to map out his
advertising campaign, he wants to determine whether the movie will appeal
most to a particular age group or whether it will appeal equally to all age
groups. The producer takes a random sample from persons attending the
preview of the movie, and obtains the following results. Use x? test to derive

the conclusion (for 6 degrees of freedom and 5% significance level, x2 critical

value is 12:592) :
Age groups
Under 20 20-39 40-59 60 and above
Liked the movie 320 80 110 200
Disliked the movie 50 15 70 60
Indifferent 30 5 20 40

T 9§ HO F 1000 ehTEI-sea, e ofwd ey 120 f &, @me mu # | I arg A
20 &7 & o foaem & a1 = w9 9§ faaf 81 90 & & o0 awg # fohaw oiea @e ®
STE? e Wyt aedl i TRy @ Seq @ R S €, A W g Wikl % S R
AU @1 9T foh foemas @ 98 10% A SU1el sod @9 7 87

1000 lightbulbs with a mean life of 120 days are installed in a new company.
Their length of life is normally distributed with a standard deviation of 20 days.
How many bulbs will expire in less than 90 days? If it is decided to replace
all the bulbs together, what interval should be allowed between group
replacements if not more than 10% should expire before replacement?

(i) To #fto Hio Fuft 3ol anfier srawasaret € 36000 HEAT F 6 Fhydl A wledt 2)
T TTS ol TG € 1§ S TSN F I T §E Hed 1 20% &1 F0HH Hid
(za=tt) HAifd & g0 T aiife ArE 3 HINY| TERiEE i€t W=l uisd ¥ M
Teret emRIfaT =g S Hehd! 7
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(d)

(e)

(b)

STH D~

ABC Company buys its annual requirements of 36000 units in 6
instalments. Each unit costs ¥ 1 and the ordering cost is estimated as
20% of unit value. Find the total annual cost by the existing inventory
policy. How much money can be saved by ‘Economic Order Quantity’
model?

(i) Torr Ry Tporeren = wedf # ‘i’ wiafy (Bramwegfa) =t wwemsT |
Explain DMAIC methodology in the context of Six Sigma Quality.

Wre g fowm (3o To o)’ fit rawashal ta ol w == ifsw) 78 wWorm @&
o Sfis-=6 (To Fo Taeto o)’ F fohm war fimm 27

Discuss the need and method of ‘Rapid Applicatidn Development (RAD)’. How
does it differ from the traditional ‘System Development Life Cycle (SDLC)?

g TR TREdd @ 3Mge Ho wew rEEIE uiEAEl % | g0 #, WieAH §EE,
et gikard qen w1 YaTE S{ GieATs aw o e i B ) &7 == i)

In this age of rapid technological change and IT enabled business processes, in
what ways are the organisational elements such as organisational structures,
business processes and work flows getting affected? Discuss.

T HYHI A IATR Iew AN A’ A R | ew B UAF §HE H AT s A 1 e
AU 981 WL 6 2 U il TSR Bl §, Sk st Y YA gohTs i wefrT faam # 2 w2
Td g8 HSfqL 1 1 HT EYFh BT 81 AW qTel HEH H o1 <l ARAFT &7 720 ©e T 36
T % 780 w2 7 B Hiftd § 1 Tk He it raft #§ rew H 320 § SR g6 AL A= S
Fehdl | AftRan o % U sean Scarg fisvr v SAftean ey o fuitor fifse) e @
W% §oh1S ATEM € 6 T Ui 3T ser o A € 4 7| Rrecem fafy w5 wim difs)

A company manufactures two products ‘Alpha’ and ‘Beta’. Each unit of Alpha
requires 1 hour of machining and 2 hours of skilled labour, whereas each unit
of Beta uses 2 hours of machining and 1 hour of skilled labour. For the
forthcoming month, the machining capacity is limited to 720 hours and the
skilled labour is limited to 780 hours. Not more than 320 units of Alpha can be
sold during a month. For the maximisation of profits, determine the optimal
product mix and maximum profit. Unit contribution from Alpha is ¥ 6 and
from Beta is ¥ 4. Use Simplex method.

siiga i SEen R (Fwd =9 feong) F fR wed § ‘oem e v f s
e Y &1 h == HiY

Discuss the supply chain efficiency of ‘Amazon.com’ with special reference to
international supply chain design.
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(c) Mo Fo o ¥ T A5-aUIiE TAER 3-=e ) yeera B off S RREEl ® el w
et B STHFE YT w2, R S5 e 3§ B Ikl § ghE, qed T H g gen
SRy T & FE R R ¥ T g R AT St sreer, drem qEigae a9 S
arE ¥ AR T e iR A IHeH s uM e W@ A W R g B 13-
ST R H TS | A Y FAw H el it awgedt i wle H gl vem w R
Heer § T % T W SEE B Y g, Y gudd F fow ok wgE e w3
T S ST 2 W) et yoedt SR et % e stk 1w R B

(i) S-<hre gE FR-snuTia Wrée @ R R e R

(ii) 20 THR I Js-snuria womel w1 wQ T TR qeEe s @ faer 7w
=fu?

(iii) wm%maﬁm%mﬁq-ﬁmnﬁ@ﬁﬁ?wmmwﬁm

ITC had come up with a web-based initiative called e-choupal which offers the
farmers information about products and services they can use to enhance farm
productivity, improve price realisation and reduce transaction costs. Farmers
can access local and global information on scientific farming practices, weather
forecasts as well as market prices, all in Hindi at the village choupal. e-choupal
also facilitates supply of farm inputs and purchase of commodities at their
doorsteps. In order to overcome the constraints at the village level, this model
is designed to provide service support through a lead farmer designated as
e-choupal coordinator who acts as the interface between the computer system
and the farmers.

(i) How is e-choupal different from other agri-based portals?

(i) What technological aspects should be considered while designing such a
web-based system?

(i) What factors would be critical to the success of such a venture? Discuss
their role.

3. (q) Tva 4 ged o Yo@, SR 1 A gEid atreo worel (Hlo 3TRo THo) & 3ARY 1986
H Rgt ¥ e om) wdAE § AW F 750 WWH W Hio Re wHo el 3usy & 3R 97%
e 5 Tomeh T A @ ¥ @ 9w () A 9fe i 9w ¥ R W@ 3 fhesligd SeE
el I SR §E 3 1 dw A ffte s ® % A Feggd # foRd Rt
=% TrET P Yo el g ghen FIREE (350 #TRe Ho Ho Hio) F du-uTRa fowe
ﬁﬁl%ﬂ A I W http://www.irctc.co.in%mﬂIﬂi‘ﬂﬁ% s fr v faawn & fag
Ho 3o THo F fza AR (A% ) ¥ frs Bl 21

(i) 2 GHTHSH 127 A 3 6 o $TRe o ¥ Y a1 wHeRer e ATl 27

(i) WREE W 6 Hio o THo 3 frafa 2 womeh # e sr@Ed iR S HreAqEH H
TEUH B 8 HU1?

(iif) ﬁ%waﬁ%ﬁaﬂaéz@awﬁ%mﬁm%%qaﬁq-ﬁmﬂm%?
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(b)

()

Indian Railways, the world’s largest railway, had introduced the Computerised
Reservation System (CRS) in one location Delhi in 1986. Presently over 750
locations all over the country have CRS terminals and 97% of the reservations
are done through this system. With increase in data load, the Indian Railways
adopted a decentralised database system approach with the data spread over
multiple mainframe computers installed at various places in the country.
Later, Indian Railway Catering and Tourism Corporation (IRCTC) introduced
web-based ticketing through its web site http://www.irctc.co.in which links to
the CRS at the back end for transactions.

(i) What is data integration? How crucial is data integration for the Indian
Railways CRS?

(i) How do we manage data integrity and data redundancy in a distributed
data system like the Indian Railways CRS?

(i) What aspects would be critical to the successful running of such a big but
distributed database system?

“Hifeashl deal & HEaTHE HeH 8, foheg Wt 9o St R wemene wu A &Y & wifesdl d
A1 26 HYA B WE WY @ qedl & HA-8 IS weH aifead 8, 3R [k fifs)

“Statistics are numerical statements of facts, but all facts stated numerically
are not statistics.” Clarify this statement and point out which numerical
statements of facts are statistics.

TF HUA Tedeh 8 WS I IRl H 192 Tl F I oG UH UHER @ (el @)
i & s @ g Fefafea aroft sd-awl, v w@ oo qEatia s et
AR

e -aw 77 (Ve ) arcamIfcish gead
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(ii) T Y =R HE& w1 gni?
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A company is setting up an assembly line to produce 192 units per 8-hour
shift. The following table identifies the work elements, times and immediate

predecessors

Worlk element

Time (in sec)

Immediate predecessor(s)

A

DU O W

S T

40
80
30
25
20
15
120
145
130
115
Total 720

None

(i) What is the desired cycle time (in seconds)?

(i) What is the minimum number of stations?

(i) Draw the precedence diagram.

(iv) What are the efficiency and balance delay of the solution found?

4. (a) (i) o R ¥ R @ T R % Freffaa wiftes s fw ge § ) amEeE: g6 T
ST 2 Fp R @ w1 s | 9@ 2 W W6 Tedl ¥ | 56 W e ol T H

B UEHSY T hl T HINT
He farr @ (g1 € H) g (318 B)
EEEE 50 1200
wEt 60 1500
I | 70 1600
SR 90 2000
g 120 2200
S 150 2500
B 140 2400
A 160 2600
Taaear 170 2800
IRE 190 2900
T 200 3100
fegm 250 3900
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The following are the monthly figures of advertising expenditure and sales
of a company. It is found that advertising expenditure has impact on sales
generally after 2 months. Allowing for this time lag, calculate the
coefficient of correlation :

AT Adve.rtising expenditure . Sale.s
(in thousand ¥) (in units)

January 50 1200
February 60 1500
March 70 1600
April 90 2000
May 120 2200
June 150 2500
July 140 2400
August 160 2600
September 170 2800
October 190 2900
November 200 3100
December 250 3900

10

(i) o9-1 W 2wRU-11 JRAT ¥ 9 T wWE F7 AN R We TR Wt w7 o
ufifefert o Sieria T 2rgu-1 e el A wen? i

What do you mean by Type-lI and Type-II errors? How are they
interrelated? In which situations, you would not like to commit Type-I

(b) T e e 3 R 7 afesn ¥ g Frefafe sl SeesiEt whtd 6 R

1)

(@)

(iii)

error? Why?

T SFH (THTE H)
fafafer STyt gaffere qyraa frrwmaTt Uils
VCEGE
A 1 4 7 —_
B 2 6 7 —
& 3 3 6 B
D 6 13 14 A
E 3 6 12 A, C
F 6 8 16 B
G 1 5 6 E. B

5

RW-AT-AE (To 3o THo) farfs gr1 Feadk Y@ (SEU™) SHIEY | Wedish Tt = ferg
HuTfard wmg Ta JERer i o hifee |

duferg TR Tl 1 e e g ity et Y o R Td shifesh AT

Trafo hifsm)

23 FaTEl & *ieR aRESET 1 ot e S wieERar e
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A project manager gathered important information for a new project which is
given below :

Time estimates (in weeks)
Activity Optimistic | Most likely | Pessimistic prin;r:;ifcff(s}
A f 4 7 —
B 2 7 —
@ 3 B
D 6 13 14 A
E 3 6 12 A; &
F 6 16 B
G 1 6 E F

() Draw the network diagrani by Arrow-On-Node (AON) method. Calculate
the expected time and variance for each activity.

(i) Calculate the activity slacks and determine the critical path using the
expected activity times.

(iii) What is the probability of completing the project within 23 weeks?

(¢) ‘‘Fo o o younferl SHAR W TN Y FagRl R UTha B B’ 6 FUH & AN
TEgal i e $f

“ERP systems are usually based on best management practices.” Comment on
the practical implications of this statement.

@is—B / SECTION—B

5. (a) Y e TR yonell % R ged @ et W oamweh fREe % gy # 27 319 IW H
sfifaer fag AR

Are you in favour of government control over price and distribution through
public distribution system? Justify your answer.

(b) T H = Ifg v o F g Tao dio sto g0 fra wRR e v7

In what way is the LPG era instrumental for the comprehensive growth and
development of the nation?

(c) ‘‘HARTgA =R § Fg-WEHH FEEH T Tl w5 g1’ F/i?
“Multi-cultural management is a challenging task in international business.”
Why?

ATH ~D)— e H T35 8



(d) 3R I FHUH TS HEEE 1 ATUTR AL HAt 8, 0 Y 7 ALON ol G497 L &
ferg feorg wifq 1ot dx=mT qen Femor & & iteds @ 8ee

If a company starts acquiring unrelated businesses, in what ways should it
change its structure and control mechanisms to manage the acquisitions? 10

(e) g TftauicHs SR & wESE WRAE Al & § 391 THE T0H 99E W@ & fae Awdt
g I T wrifos sgaeti @ 7es e W 87 == fig)

What strategic competencies are helping Maruti Suzuki to maintain its
dominant position in the Indian Automobile Industry in spite of the fiercely
competitive market? Discuss. 10

6. (a) ‘'R H S HUNC WM, TY IUN THIFA, HEH T4 YEH STHA I A 8| AR T
T T e A ) 5 Al SR & Aadiies SUET 9 9eR e % I Mearfed
Foren st 217

3tk YA o e B AEfafad w6 W A

(i) T S % uid YRd @R 6 Hifd 6l == i)

(i) T HEE SIS el i ke Wifd < forg o1y w®n g <t

“India has corporate giants, small-scale industrial units, medium and micro

enterprises. Indian regulatory bodies and funding agencies are encouraged to
support all these business houses of different sizes.”

In the light of the above statement, answer the following questions :

(i) Discuss the policy of the Government of India towards small-scale
industries. 10

(ii) What would be your suggestions for the congenial growth of all these
segments of business? 10

(b) T <hfaw fervermor wfaifea st & 56 Uy TR R walta STl ghTE 21
(i) T SR favemor W HiEa yg@ STEm W e 1o |
(i) <Tane wTET % foe g faveo R e suErh gm?

“Country risk analysis assumes that a country is a purposeful entity managed
by a government.”

(i) Bring to light the major dimensions focussed in country risk analysis. 10

(i) In what way is this analysis helpful to corporate houses? 10
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(c)

7. (a)
(b)
(c)
8. (a)

T ‘gha’ e T8 B SR % e FoRe T e g e s ww g wit
1 ==t i)

Should ‘green’ environmental issues form part of the corporate strategy of a
business? Discuss the pros and cons.

“qstrRT Y ST SRR F SR H mfigdl, IusiRh STEer s S ud I E@eAl
St T 7 fiet O 8 U weEgl SR § RS Iudin wem AfufEm, 1986 S
_aq_Tli?

(i) Susirel AR, et TReqo B =feT, i w9 A |

(i) T8 TR 5 Iusiien e 61 Tiehedl g6 SfiEE | 6 i

(iii) I9RT ST B SqueRn TeAl 1 sfeRt 1 == Fif)

“Ignorance of the consumer of her rights, lack of consumer movement and lack

of due recognition to the consumer organisations have been some important
factors which led to the enactment of the Consumer Protection Act, 1986.”

(i) Specify the consumer rights to be protected.
(i) What sort of consumer movement has the Act contemplated?

(i) Discuss the role of consumer organisations in consumer protection.

AT TS T W 1 SRR TR TR o Gehd 87 I 3 AT H -6 wEifoat
I8 Uhd S ?

How can service organisations internationalise themselves? What strategies
would make them successful in their endeavour?

SRS R giads ¥ Ty grend g2l € gu ot 9% i Aoyl ® SR 3| gl
wyeft-wif yey @ % fore @ foman s sk &7

Given the problems associated with prescriptive strategic change, why is it
important and what can be done to better manage this process?

Ry Yeisia fftRe ¥ T G gew 3 B wWed J fawddl & fag sey gemer-
Hed &1 A Fil 2

(i) HTiRe e i fwern % Ty 3R @1 Fro Fang 7 90 A w3t B

(i) =S FORE IEA % AT H1 T8 Hifre |

One of the founders of Infosys Technologies Limited has made criticisms
against the Board of Management for the failure in corporate governance.

(i) What reasons has he quoted for the failure of corporate governance? Are
these reasons justifiable?

(i) Specify the standards for good corporate governance.
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(b) ‘IR Mo o Hulal v =R * wHA £1'
(i) ST T8 Wherdn < T 3T T SR Fandn?
(i) AfTEH IUAHEIAT B FGE B IR fafmin T emge do wultEl @ e we fios
& &7
“Indian IT companies are successful in global business.”
(i What reasons would you focus for their success? 10

() In what way is the Indian manufacturing hub lagging behind IT
companies in satisfying global consumers? 10

© T T on wieuRE ¥ @9 siw B wmEm OMR Rt ¥ R @ w37
SRt < e 0 ¥ R @ A S e 3 o w7

Why is it important for strategy makers to understand the difference between
tangible and intangible assets? Which one is more important in creating
competitive advantage and why? 10

* ok k
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